EARAROBEEIERT — 2 N— IBISH —F

201552H3H () 15EIEH5H

m C3—9 C3 #5%—#% ‘ [XE] W ‘ (3E8500]  — | & () 14000
[A&4£] 1% :100,000 ™ ~ 23#&:25000M”  33%&:12,000 M  43%&:8,000H ~ 53 :5,000 M
BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1Y 3| TXTNa1H— #o4 | ZEER 13,0 6662 |307| — | 3 | 42 @S (&)
RFA =Y b= BERIFL oA 3) | Hipags
$) o s 4 o4 | MEHEF 1:33.3 3-3-2-1 |40.2| — 1 442 | BIRFELE] (BAN)
2 H 8 /:,i NI b 56.0 (11/2) (-3) FUS R
R:T5y k-0 BHF—T—K =H T
B N BIFFEIR :33. —4-4- . - #lEE (BH)
sy o | XTULTR—A AL i e T 08 ‘ <4+627> KEFH
A1 agxI Ry B:T7R74—F RN
- Py _ oo - REA (HH)
N NEIZEEr o4 o 1.(314).1 2-2-0-5 | 41.1 7 go) gak
R:aArFaAy b B:IFxT4R%— Ht B2
= o4 | EEEE 1:34.2 1-1-1-3 [ 41.3| — 2 495 | BBEMEH (BH)
5/111|7Z7— b 56.0 (7€) (13) | A
L:yA7x B:iLELT AEHS
= it 4 | BREE—BA 1:34.7 5-5-4-6 |41.5| — 5 439 | EHEZ (BH)
6l7|7| NIBATyx— 54.0 @ 1/2) o | B #2757
T RIA Y L—> B hUhAEE— ZRABT7— L
P “ I3 :35. ~7-7- . — HPEZ (SH)
7 4| FvavEa 4 11 e 1(335)3 7-7-7-7 | 41.4 8 (4_235) gl (
L= Y=Y b B:OAXEEHI =l B
N = i 4 | BIIE 1:35.6 8-8-8-8 |41.4| — 6 434 | TSR (SH)
8/5|5 INMILEZ Y 54.0 (1 1/2) +1) BKEA
RFRA L E— BTN IT 4TS JRE B
® I —F—@EBIERL
13=zr= 1,6,(2,8),7,3,4,5
2o=7r= 1,6,8,2,7,3,4,5
Jo=3r= 1,(6,8),(2,7),3,4,5
41—+ — 8,3,1,2,6,7,4,5
[ RN
B OB 3 600 714K 3-8 160M B = 3-8 260M &R 2-3-8 1,320H
% B 3 100M 2-3 690F B H 3-8 760/ K31 3-8-2 3,710
8 100 2-8 380
2 1504

ABICOVWTRDTEEERROODE. TR LIV,




